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Quiz 6
You scored O out of 100
Question 1
You did not answer the question.
Calculate the integral.
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Question 2

You did not answer the question.

Calculate the integral. )
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Question 3

You did not answer the question.

Calculate the integral. )
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Question 4
You did not answer the question.
Calculate the integral.
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Question 5

You did not answer the question.

Calculate the integral.
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Question 6
You did not answer the question.
Calculate the integral.
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Question 7

You did not answer the question.

Calculate the integral.
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Question 8

You did not answer the question.

Calculate the integral. )
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Question 9

You did not answer the question.

Evaluate the integral.
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Question 10

You did not answer the question.

Evaluate the integral.
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Question 11

You did not answer the question.

Calculate the integral.
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Question 12

You did not answer the question.

Calculate the integral.
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Question 13

You did not answer the question.

Estimate the given integral by the midpoint estimate, n = 12.
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Question 14

You did not answer the question.

Estimate the given integral by the trapezoidal rule, n = 12.
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Question 15

You did not answer the question.

Estimate the given integral by the trapezoidal rule, n = 5.
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Question 16
You did not answer the question.
Estimate the given integral by the trapezoidal rule, n = 4.
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Question 17

You did not answer the question.

Estimate the given integral by Simpson's rule, n = 4.
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Question 18

You did not answer the question.

Determine the values of n which guarantee a theoretical error less than & = 0.001 if the integral is estimated by the trapezoidal rule.
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You did not answer the question.

Determine the values of n which guarantee a theoretical error less than 2= 0.1 ifthe integral is estimated by the trapezoidal rule.
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Question 20

You did not answer the question.

Determine the values of n which guarantee a theoretical error less than & = 0.01 if the integral is estimated by the trapezoidal rule.
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